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A)Solve p?2 —p(x +y) +xy =0
) Find the general and singular solution of the Clairaut’s equation
Lxpd—yp*+1=0.

[07] I COS| L3

|
.

5

I S

k-‘md the largest Eigen value and the corresponding Eigen vector of the Matrix A
2 01

by the power method given that [O 2 0] taking initial vector as[1,0,0]".
1 0 2
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Apply Gauss-Jordon method to solve the system of equations
- 2x+Sy+7z=752
2x+y-2z=0
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 x+y+z=9

bimmliu the matrix [—; i]
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A) Solve y(2xy + 1)dx — xdy =0

B) Show that the family of curves x* —3xy? =k, and y? — 3x%y = ky are

Orhogonal trajectories of cach other.
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